Name:

Meters and Centimeters

Class:

6m =

8m =

5m =

Om =

12m =

3 m 60 cm

2m72 cm

O9m 15 cm

I5m 12 cm

22 m 80 cm

31m31 cm

Fill in the correct numbers.

cm

cm

cm

cm

cm

copyright:

cm

cm

cm

cm

cm

cm

400 cm =

300 cm =

1,300 cm =

1,000 cm =

1,400 cm =

3llecm =

205cm =

99 cm =

I,L111 cm =

1,650 cm =

1,890 cm =
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Egm =

Answers

Fill in the correct numbers.

600 cm

Sm =

Om =

800 | cm

500 cm

900 cm

12m =

3 m 60 cm

2m72 cm

O9m 15 cm

15m 12 cm

22 m 80 cm

31 m31 cm

1,200 | cm

= | 360

cm

=| 272

cm

=1 915

cm

= | 1,512

cm

= 12,280

cm

= 3,131

cm

copyright:

400 cm =

300 cm =

1,300 cm =

1,000 cm =

1,400 cm =

13

10

14

31lecm =] 3

11

205cm = | 2

99 cm = | 9

99

1,111 em = | 11

11

1,650cm = | 16

50

1,890 cm = | 18

90
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